
����� 4 
 

��	
��
���
��������� 
  
      �������	
����
��������������	����� 
��������������������� !��""�#�$%$��$#&����
��������������##�������'�	��������������%(���(�	����  ��������)��* &������	
����
���	!+�
��,�#��#&�� - 3 ��,�#�� *��	�������	���
������(%$�#���� ������������'������"����/
%$��0���
�����	
����
������  ����$,  
 

�����	�����������	
��
���
���������     

                    n         *%�  ������2&�#���(&��  

                               X         *%�  
&�	3�$�( (Mean)  
                  S.D.      *%�  
&�	 $�(�	 ���#�<�� (Standard Deviation)  
                    t          *%�  
&��C�#�%$��0���	
����
�����*��*��
���C$�*  %$ (t-distribution)    
                    F         *%�  
&��C�#�%$��0���	
����
�����*��*��*  	�I (FJdistribution)  
         df        *%�  0�,�*�&�
�������� (degree of freedom)  
                   SS       *%�  �� �����
�*��	 $�(�	 �(��'������� (Sum of Squares)  
         MS      *%�  
&�	3�$�(����� �����
�*��	 $�(�	 �(��'�������     
                   p        *%�  
����&���	!+�����P���� (probability)  
         *         *%�  ��(�'�
�"%���C�#�%2�����  .05 

 
	
��
���
���������  

      ���������%$��� ���)�� P�(�0�*  �� C���� ��2&�#���(&�� �'���� 300 
� �������()��
�'�����	
����
%���C�#�*���'�	����������	
����
 ���#&�)!�$,  
       #��%$�  1  ��	
����

�������&��#���������#  )��*�& 	��*��
/�  P�(�����	
����
��
&�
���(�� *����'�	�������!#����!���� 
���	�$(�  

       #��%$�  2  ��	
����
��
&�	3�$�(X  
&�	 $�(�	 ���#�<�� (S.D.) 
����������#&����
��������������#	!+���(���*����(����  *��	!�$( 	%$( 
����������	����%��� ���#�<��
P�(���%��� 
&�%$ (t-test)  �'���� ��2&�#���(&�� 2  ��2&� *��
&�	�I (F-test) �'����  
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��2&�#���(&�������&� 2  ��2&���,�)!  ���� 
���*#�#&���(&���$��(�'�
�"%���C�#�%$�����  .05  
���%'����%��� 	!+���(
�&P�(�Y$���	0I	IZ (Scheffe]s method)  
    #��%$� 3  �'����������*  �� C��#��%$� 3 ����2!*����'�	�������!
���	�$(�  
 
��	
��
���
���������  
 

 ����� 1  �������&��#���������#���� !��""�#�$%$�	!+���2&�#���(&��  �'�*��#��#��
*!� 	�� *��
/� P�(*��*��	!+�
&����(������!#����!���� 
���	�$(�   
 
#����  4  *����'����*�����(���������&��#�������2&�#���(&��#��#��*!�	��*��
/� 
 

 ��"#� $%
���(n) ���)�� 

�*+                           0�( 
                                       �"�� 
                                                           ���  

112 
188 
300 

35.33 
59.30 
94.63 

���                        
/����
����#�
  
                  
/���2�(���#�
  
                  
/���#����#�
       
                  
/���%(���������� a 
                  
/���������#�
      
                            ��%(���(����0�#�   
                                                            ���  

50 
50 
50 
70 
30 
50 
300 

15.77 
15.77 
15.77 
22.08 
9.47 
15.77 
94.63 

��� 300 94.63 
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   ���#���� 4 *����&�����#���� !��""�#�$�����%(���(�	���� %$�	!+���2&�#���(&����
�'����%�,���,�  300 
�  �'�*��������	 �,��#��)������$,  

1.  	��  � �&�  ����#���� !��""�#�$�����%(���(�	���� %$�	!+���2&�#���(&�� * &�	!+�
0�( 112
�  
��	!+����(��35.33  *���"�� �'���� 188  
�  ���(�� 59.30   

2. 
/� � �&�  ����#���� !��""�#�$�����%(���(�	���� %$�	!+���2&�#���(&��  %$�	�$(�
����2&�
/����
����#�
 �$�'���� 300
� 
��	!+����(�� 94.63  �'�*��	!+�  
/����
����#�
 
�$�'����  50 
� 
��	!+����(�� 15.77 
/���2�(���#�
 �$�'���� 50 
� 
��	!+����(�� 15.77     

/���#����#�
�$�'���� 50 
�  
��	!+����(��15.77   
/���%(�����������$�'����  70 
� 
��
	!+����(�� 22.08  
/���������#�
 �$�'����  30 
� 
��	!+����(�� 9.47*����%(���(
����0�#�  �$�'����  50 
� 
��	!+����(�� 15.77 

 

 ����� 2  ��	
����
��
&�	3�$�( (Mean)  
&�	 $�(�	 ���#�<�� (S.D.) 
����������
#&������������������#	!+���(���*����(����  *��%'����	!�$( 	%$( 
����������	����%��� 
���#�<��P�(���%��� 
&�%$ (t-test)  �'���� ��2&�#���(&�� 2  ��&� *��
&�	�I (F-test) �'���� 
��2&�#���(&�������&� 2  ��2&���,�)!  ���� 
���*#�#&���(&���$��(�'�
�"%���C�#�%$�����  .05  
���%'����%��� 	!+���(
�&P�(��Y$���	0I	IZ (Scheffe]s method) 
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#���� 5  *���
&�	3�$�( 
&�	 $�(�	 ���#�<��*������ 
�����������������#���� !��""�#�$ 
%$��$#&��������������������� '�	�c"!��P(0�
*�����������*������ �'�*��	!+���(
��� (n = 300) 

 
                                                          

	
$	���-�
�	
��%
�*.�#��/)���"����	�
�
�0"�-���� 
 
 

X    

 
 
S.D    

 
��-����
� 
*40*��$ 

 

1. ����&�	����P
�����%$����
������ 
���0'���"�������# 3.79 0.75 ��� 
2.����������
������ *����e��
�����������02�0� 3.69 0.81 ��� 
3.02�0������C��*� ����� *����e�����������������
��(�&�(&�� 
   (��(��#&�)! 3.67 0.90 

 
��� 

4. ���
����'�
�"#&��������%$������C��e��02�0� 3.84 0.81 ��� 
5. �����C��e��02�0�������/������e��*  (���(�� 3.84 0.85 ��� 
6. ����#)��	�$(������� �����	�$(�������%'���� 3.80 0.94 ��� 
7. #���������C��
���	�$(��� *������%$����!f""�0�������� �0����
� 3.89 0.89 ��� 
8. ��������������2&�	���%$�#������#�������#	!+�����'�	������	�� 3.89 0.83 ��� 
9.����#)���� !��� ���/
 4.01 0.88 ��� 
10.����#)��gh�!i� �#������%'�P
��������(#�	�� 3.93 0.88 ��� 
11. �������������
'����C��
���!���j�(	!+��'�
�" �����	������,�%$�
�'�	���P
��������������� 3.86 0.85 

 
��� 

12. ��,�%$�������������������
���
�)�&�&��)�� �$
��������
����
�� 3.83 0.89 

 
��� 

13. )�&	!+���������C�����#C2������"& �2&�	����������k&��*k� 
!�� !�2�*����e����
��  �C��%$� 3.68 0.93 

 
��� 

14. 	�����,�%$������e����2&�	!l����( )��*�&���
�0� %*����2&����(
P���� 3.87 0.86 

 
��� 

15. 	�����,�%$������e����2&�	!l����(����,�%$�����������/2P�� 3.83 0.86 ��� 
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#���� 5  (#&�) 
 

                                                                                      
	
$	���-�
�	
��%
�*.�#��/)���"����	�
�
�0"�-���� 

 
 

X    

 
 
S.D    

 
��-����
� 
*40*��$ 

 

16. 	�����,�%$������e����2&�	!l����(��	�# �������� 
�����%(���(�	���� 9 ������� 3.79 0.90 

 
��� 

��� 3.83 0.86 �
	    

 
   ���#���� 5  *����&�
�����������������#���� !��""�#�$%$��$#&��������������
#��������#�����������������%(���(�	����  ������� '�	�c"!��P(0�
*�����������*������  

P�(����(�&������ ���  (X= 3.83, S.D. = 0.86)  *��	���������/�	!+���(���� �&�  ����#�$

�����������(�&������ ��� %2���� P�(���%$�����#�$
�������������%$��2� 
�� ��� 9 ����#)���� 

!��� ���/
 (X= 4.01, S.D. = 0.88)  ������� 
�� ��� 10 ����#)��gh�!i� �#������%'�P
�����

���(#�	�� (X= 3.93, S.D. = 0.88)  *�����(%$��2�
��  ���  3 02�0������C��*� ����� *��

��e�����������������
��(�&�(&��(��(��#&�)! (X=3.67, S.D. = 0.90)   
 
 
 
 
 
 
 
 
 
 
 



49 
 

#���� 6  *���
&�	3�$�(
&�	 $�(�	 ���#�<��*������ 
�����������������#���� !��""�#�$ 
              %$��$#&������������������������������&�	�������!��e�Y���  �'�*��	!+���(���  
              (n = 300) 
 

 
	
$	���-�
��90���
�+
�#��:�;��� 

                                                                                      

 
 

X    

 
 
S.D    

 
��-����
� 
*40*��$ 

 

17 ���#2���������#  #��������
2/
&�������!��e�Y��� *��j���!f""�
%���C��� 3.91 0.86 

 
��� 

18 �����
���j�
j�����
���	!+�)%( ������!��e�Y���*��!��	�/$
)%( 3.83 0.90 

 
��� 

19 �����C�0�j���!f""�)%(�������e��02�0� *��!��	%� 3.78 0.91 ��� 
20 P
������������������ 	����%'��2 '��2����!��e�Y��� *��j���!f""�
%���C��� 3.83 0.92 

 
��� 

21 �&�	���������2����
 �&�	���� 	�(*��& �� ��� !���gf�
&���(� *��
*��	!�$�(�	�$(����k������ 3.87 0.92 

 
��� 

22 	!+��������%$��&���� 02�0� ������&�(���j�(��� 3.80 0.90 ��� 
23 ���	�(*��&0���	�$(���������%(���(�	����  ���������!��e�Y��� 3.81 0.88 ��� 
24 ���	�(*��&0���	�$(���������%(���(�	����  ����j���!f""�%���C���
���	!+�%$�!������
#&����
� 3.81 0.84 

 
��� 

25 �����e��
���������Y
  *����Y$���%'�����&���� ������� 3.92 0.85 ��� 
26 �$ % �%�'�
�"�����%'��2 '��2���e��*��	�(*��&��e�Y��� 3.78 0.86 ��� 
27 �&�	�����������#�$��#�'����*��
����� ���0� #&����!��e�Y���)%( 3.82 0.90 ��� 
28 �$����������������*#&��j�
 	!+�!���'�%2�!n 3.91 0.85 ��� 

��� 3.84 0.88 �
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 ���#����  6  *����&�
�����������������#���� !��""�#�$%$��$#&��������������#��
������#�����������������%(���(�	����  �����&�	�������!��e�Y���P�(����(�&������ ���  

(X= 3.84, S.D. = 0.88)  *��	���������/�	!+���(���� �&�  ����#�$
�����������(�&������ 
���%2���� P�(���%$�����#�$
�������������%$��2�
��  ���25 �����e��
���������Y
  *����Y$���

%'�����&���� ������� (X= 3.92, S.D. = 0.85)  ������� 
�� ���17���#2���������#  #��������


2/
&�������!��e�Y��� *��j���!f""�%���C���  (X= 3.91, S.D. = 0.86)  *�����(%$��2�
��  ���

19 �����C�0�j���!f""�)%(�������e��02�0� *��!��	%�  (X=3.78 , S.D. = 0.91)  *�� 

��� 26 �$ % �%�'�
�"�����%'��2 '��2���e��*��	�(*��&��e�Y��� (X=3.78 , S.D. = 0.86)   
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#����  7  *���
&�	3�$�(
&�	 $�(�	 ���#�<��*������ 
�����������������#���� !��""�#�$   
%$��$#&������������������������������&�	���������
2/Y������(Y���  �'�*��	!+���(��� (n = 
300) 
 

 
	
$	���-�
��90���
����
0�<�;��� $�
);���                                                       

 
 

X    

 
 
S.D 

 
��-����
� 
*40*��$ 

29 �&�	��������0�����Y���%������� 3.89 0.92 ��� 
30 ��e������#����$
2/Y��� ���(Y��� 3.91 0.85 ��� 
31 ���������������#�$���Y�  ��	 $( ����( *��
����� ���0�  3.85 0.89 ��� 
32 �������#�����C�0�0$��#�(�&�����
��(&���$
����2� 3.94 0.91 ��� 
33 ������ ��2����������������%������ #������'�
�"%�������%2�
����� 3.98 0.87 

 
��� 

34 �������������%������2%Y��������%��0���  	0&� ������%'� 2"
%2�����o��� / �����	�c� 4.03 0.83 

 
��� 

35 (������
'����*��
'����C��*�&�*%��������'�
�"%���������,�- 3.90 0.87 ��� 
36 )�&��� ��2�
&��0��&�( ����(���%$�)�&	������ 	0&� 
&��0��&�(�����
������	�$,(�������

 3.77 0.90 

 
��� 

37 ��� ��2��������������%$������
&���(�%$�C��#������*�&����# 3.85 0.86 ��� 
38 �����2����
�������*������*������j�(�������%(���( 3.86 0.82 ��� 
39 ����&�	�������*#&���(%$�C��#���#����	 $( ��������%(���( 3.83 0.93 ��� 
40 ���!i� �#�#���p*������(����� 3.74 1.00 ��� 
41 �����
���	�����%$�C��#���	������!f"��%�����
�%$�	������
&���(�%$�
��� 	0&� �������I2# �� (�	��#�� *�� �(�2� 3.81 0.95 

 
��� 

42 ������ ��2�����������/P
�����%$�	���������!��0�Y�!)#( 3.75 0.93 ��� 
43 �������#�'����%�����	���� �����������%Y�����%$����#�	�� 3.74 0.91 ��� 
44 �����%Y� % �%������	!+�����#�������� *�� % �%���!��0�0�
��	�����$���� � !��0�Y�!)#( 3.88 0.87 

 
��� 
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#����  7  (#&�) 
 

 

	
$	���-�
��90���
����
0�<�;��� $�
);��� 
 

X S.D 

 
��-����
� 
*40*��$ 

45 ���	���������
2/Y��� ���(Y���	������!���o#�!i� �#�	!+�#���(&��
%$��$*�&�������)�� 3.88 0.93 

 
��� 

��� 3.86 0.89 �
	    

 
���#���� 7  *����&�  
�����������������#���� !��""�#�$%$��$#&��������������

#��������#�����������������%(���(�	����   �����&�	���������
2/Y��� ���(Y��� P�(���

�(�&������ ���  (X= 3.86, S.D. = 0.89)  *��	���������/�	!+���(���� �&� ����#�$
������
�����(�&������ ��� %2���� P�(���%$�����#�$
�������������%$��2�
��  ���33 ������ ��2����

������������%������ #������'�
�"%�������%2������   (X= 3.98, S.D. = 0.87)  �������


��  ���32 �������#�����C�0�0$��#�(�&�����
��(&���$
����2� (X= 3.94, S.D. = 0.91)  *�����(

%$��2�
��  ���40 ���!i� �#�#���p*������(����� (X=3.74, S.D. = 1.00)  *�����43 �������#�'����

%�����	���� �����������%Y�����%$����#�	�� (X=3.74, S.D. = 0.91)   
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#���� 8  *���
&�	3�$�(
&�	 $�(�	 ���#�<��*������ 
�����������������#���� !��""�#�$ 
              %$��$#&������������������������������&�	�����$r�*���&�	�����2�j�� �'�*��	!+���( 
              ���   (n = 300) 
 

 
	
$	���-�
��90���
�	�>
"���90���
��<�?
* 

                                                                                      

 
 

X    

 
 
S.D    

 
��-����
� 
*40*��$ 

 

46 ��� ��2��������%$��&�	�����������#�$%�������	�&��$r� 4.01 0.81 ��� 
47 �&�	�����������#����'������(	�����2�j�� 3.96 0.83 ��� 
48 �$�,'���	!+�����$r� �����
�������

$�����&
/� 3.94 0.86 ��� 
49 �2&�	������	�&��$r�*���������'������(	�����2�j�� 3.95 0.83 ��� 
50 �������#� ����
���#������!��0�
������%(���(�	���� 3.90 0.87 ��� 
51 ����&�	����
���	!+�	���%������$r�P�(�����/�������(j��*��

���������������$r�*������#��0��� 3.87 0.83 

 
��� 

52 �$	!l����(���*�&������%2����� �(&��0��	�� 3.94 0.91 ��� 
53 �$r�%$��$
�������������������*�&���� ��� ��2����	!+�*���'���
���������*�&��������� ��

��/��&�(���#&��- *��02�0� 3.94 0.89 

��� 

54 �$������ ��2����%2�!��	j%�$r� 3.96 0.91 ��� 
55 ������*�&�����$r�j�(�������%(���( �(&�����(!n�������� 
�� 1 
��,� 4.02 0.88 

 
��� 

56 �C��%$�*���2!��/
�$r��$
��������*��!���j�( 3.92 0.92 ��� 
57 ����*���2!��/
�$r���������'������()����#�<�� 3.87 0.93 ��� 
58 �C��%$�*���2!��/
�������'������(/	�&��$r� �$
���	�$(���#&�

���#���������������0� ����� 3.91 0.94 

 
��� 

59 �$��������$r���������'������(���	����	����&���������( 3.97 0.85 ��� 
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#���� 8  (#&�) 
 

 
	
$	���-�
��90���
�	�>
"���90���
��<�?
* 

 

X 

 
 

S.D 

 
 

��-����
� 
*40*��$ 

61 �������#�$P����������0�����%�������&����( *��
���
��	����
���%'��&�%$�	!+�!��P(0�
#&�#�	�� #&��C� ���������� 3.87 0.88 

 
��� 

62 ����&�	�����������# �$�&����(*�c�*�� �����%$���	!+�%���(����'�
�"
�������e��!��	%� 3.88 0.88 

 
��� 

��� 3.93 0.87 �
	    

 
���#���� 8  *����&�
�����������������#���� !��""�#�$%$��$#&��������������#��������#�
����������������%(���(�	����   �����&�	�����$r�*���&�	�����2�j��P�(����(�&������ ���  

(X= 3.93, S.D. = 0.87)  *��	���������/�	!+���(��� � �&� ����#�$
�����������(�&������ 
���%2���� P�(���%$�����#�$
�������������%$��2�
��  ���55 ������*�&�����$r�j�(��

�����%(���( �(&�����(!n���������� 1 
��,�  (X= 4.02, S.D. = 0.80)  �������
��  ���46  

��� ��2��������%$��&�	�����������#�$%�������	�&��$r� (X= 4.01, S.D. = 0.81)  *�����(%$��2�

�� ���51 ����&�	����
���	!+�	���%������$r�P�(�����/�������(j��*��
�����������

����$r�*������#��0���  (X=3.87, S.D. =0.83)  ���57 ����*���2!��/
�$r���������'����

��()����#�<�� (X=3.87, S.D. =0.93)  *�����61 �������#�$P����������0�����%������

�&����( *��
���
��	�������%'��&�%$�	!+�!��P(0�
#&�#�	�� #&��C� ���������� (X=3.87, 
S.D. =0.88)   
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#���� 9   *���
&�	3�$�(
&�	 $�(�	 ���#�<��*������ 
�����������������#���� !��""�#�$
%$��$#&������������������������������&�	�����������0����  �'�*��	!+���(���   

               (n = 300) 
 

 

	
$	���-�
��90���
����
0�
�
	
� 

                                                                                     

 
 

X    

 
 
S.D    

 
��-����
� 
*40*��$ 

 

63 ���
����&������� ��

�������������- ������'�
������)!�0� 4.03 0.78 ��� 
64 ����'�
������ 
��������C���0������0����	!+�!��P(0�
�����
������������������%(���( 4.02 0.73 

 
��� 

65 �&�	��������'���


����������0�0$�/��0���� 4.01 0.79 ��� 
66�'�
������%$��$���	�$(����������/��

����	�(*��& 3.89 0.86 ��� 
67 ����'�
���������0����	���!��P(0�
�� !��0�
��������%(���( 3.87 0.82 ��� 
68 �������������%����0�����$
������
������ 
���#������  
���
C����������# 4.02 0.79 

 
��� 

69 ������ �������0����%2�
��,�%'��������#)���� 
������%��	�#2���/

#���	��� 3.96 0.83 

 
��� 

70 	!s�P�����������#*���
������ 
��������C���#��	�� 3.97 0.85 ��� 
71 ����#)���� !��� ���/
���� gh����!i� �#����%'�)�� 
��	!+� %'�	!+� 3.96 0.88 ��� 
72 ����&�	���������������������&������#�� �����%(���(*��
��&�(�������- 3.95 0.79 

 
��� 

73 ������ �������0����*#&��
��,��$
���	�������� ����# 3.94 0.81 ��� 
74 �$���gh�%���� ��� �����
�� ��������� ���	�0�"�C�����/
 3.85 0.87 ��� 
75 �$���!��(2�#

���������0�	����!l�����*��*��)�!f"�� 3.90 0.84 ��� 
76 �$��������������
����������#&��- �(&��)������&�����2���� 3.82 0.86 ��� 
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#���� 9  (#&�) 
 

 
	
$	���-�
��90���
����
0�
�
	
� 

 
 
 

X 

 
 

S.D 

 
��-����
� 
*40*��$ 

 
77 �$���!���gf�
2/Y���
&���(�%$��$���*��
2/����/�������!����


)����%2���0� 3.89 0.82 

 
��� 

��� 3.94 0.82 �
	 

 

  

���#���� 9  *����&�
�����������������#���� !��""�#�$%$��$#&��������������#��
������#�����������������%(���(�	����  �����&�	�����������0����P�(����(�&������ ���  

(X= 3.94, S.D. = 0.82)  *��	���������/�	!+���(���� �&�  ����#�$
�����������(�&������ 
���%2����P�(���%$�����#�$
�������������%$��2�
��  ���63 ���
����&������� ��

�������������- 

������'�
������)!�0� (X= 4.03, S.D. = 0.78)  �������
��  ���68 �������������%����0�����$


������
������ 
���#������  
���C����������# (X= 4.02, S.D. = 0.79)  *�����(%$��2�
��  

���76  �$��������������
����������#&��- �(&��)������&�����2���� (X=3.82, S.D. =0.86)   
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#���� 10 *���
&�	3�$�(
&�	 $�(�	 ���#�<��*������ 
�����������������#���� !��""�#�$  
%$��$#&��������������������������������%�����  �'�*��	!+���(���  (n = 300) 

 
 

	
$	���-�
������
	
� 

                                                                                      

 
 

X    

 
 
S.D    

 
��-����
� 
*40*��$ 

 

78 �&�	�����������#)���������0�	����&�����	���!��P(0�
 4.03 0.80 ��� 
79 �������%$�����������#)��%'�#��
������
���%'���(���&�� 3.97 0.79 ��� 
80 �������%$����	�������	���
���	����	���� 3.92 0.85 ��� 
81 �������%$�����&��
��(
���#��	
�$(�%�,��&�(��(*����#�� 3.92 0.84 ��� 
82 �������������0&�(��e��%����#&��- 	0&� C&�(j�� 	���
 	#���'� 
�&��������� a�a 3.96 0.89 

 
��� 

83 �&�	����
����$��	 $( ����(��#�	�� 3.98 0.84 ��� 
84 �������%$�����$!��P(0�
#&�����'�	���0$��#!���'���� 3.94 0.92 ��� 
85 �&�	����	�������
������������������������������(�����,� 3.91 0.93 ��� 
86 �$�����e��
��������C��	������������� 3.95 0.91 ��� 
87 0&�(	���������
2/j��*�����(j�����#������,� 3.93 0.83 ��� 
88 ��������Y$���%'�����&����� 4.01 0.86 ��� 
89 �������%$����%'��������#�$
������!�$,���	!�&� ��0��������,� 3.99 0.81 ��� 
90 ��������������%�����%'��������#�$����/
*�&���	 �� ����,� 4.01 0.83 ��� 

��� 3.96 0.85 �
	    

 

���#���� 10  *����&�
�����������������#���� !��""�#�$%$��$#&��������������
#��������#�����������������%(���(�	����   �������%�����P�(����(�&������ ���   

(X= 3.96, S.D. = 0.85)  *��	���������/�	!+���(���� �&�  ����#�$
�����������(�&������ 
���%2���� P�(���%$�����#�$
�������������%$��2�
�� ���78 �&�	�����������#)���������0�	����&�����

	���!��P(0�
  (X= 4.03, S.D. = 0.80)  ������� 
��  ���88 ��������Y$���%'�����&�����  



58 
 

(X= 4.01, S.D. = 0.86)  *�����(%$��2�
�� ���85 �&�	����	�������
���������������������

���������(�����,� (X=3.91, S.D. =0.93)  
 

#���� 11  *���
&�	3�$�( 
&�	 $�(�	 ���#�<��*������ 
�����������������#���� !��""�#�$ 
                %$��$#&��������������P�(���%2�����  (n = 300) 
 

 

��
�*40*��$����� 9�	
�$�-	
$	����
�
                                                                                       
 
 

X    

 
 
S.D    

 
��-����
� 
*40*��$ 

 

1.�������������� '�	�c"!��P(0�
*�����������*������    3.83 0.86 ��� 
2.���������������&�	�������!��e�Y���   3.84 0.81 ��� 
3.������������&�	���������
2/Y������(Y���    3.86 0.89 ��� 
4.������������&�	�����$r�*���&�	�����2�j��   3.93 0.87 ��� 
5.���������������&�	�����������0����    3.94 0.82 ��� 
6.��������������%����� 3.96 0.85 ��� 

��� 3.89 0.85 �
	 

 

 

���#���� 11 *����&�  
�����������������#���� !��""�#�$%$��$#&��������������
#��������#�����������������%(���(�	����  P�(���%2����� �(�&������ ���   

(X= 3.89, S.D. = 0.85)  *��	���������/�	!+���(���� � �&� ����#�$
�����������(�&������ 

���%2���� P�(����%$�����#�$
�������������%$��2� 
�� �������%����� (X= 3.96, S.D. = 0.85) 

������� 
�� ��������&�	�����������0���� (X= 3.94, S.D. = 0.82)  *�����(%$��2� 
�� �������

 '�	�c"!��P(0�
*�����������*������ (X=3.83, S.D. = 0.86)   
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#���� 12  *���
&�	3�$�(
&�	 $�(�	 ���#�<��*������ 
�����������������#���� !��""�
#�$%$��$#&��������������P�(���%2�����  �'�*��#��	�� 

 
��
�*40*��$ �*+        n X           S.D 

��-����
� 
*40*��$ 

1.������� '�	�c"!��P(0�
                              
*�����������*������                                    

0�(          112       
�"��        188                                   
���          300 

3.67      0.92 
3.92      0.82 
3.80      0.87 

��� 
��� 
��� 

2.��������&�	�������!��e�Y���                      0�(        112       
�"��       188                                   
���         300 

3.66      0.82 
3.95      0.67 
3.81      0.75 

��� 
��� 
��� 

3.�����&�	���������
2/Y������(Y���             0�(        112       
�"��       188                                   
���         300 

3.75      0.75 
4.03      0.81 
3.81      0.75 

��� 
��� 
��� 

4.�����&�	�����$r�*���&�	�����2�j��            0�(        112       
�"��       188                                   
���         300 

3.75      0.78 
4.03      0.66 
3.89      0.72 

��� 
��� 
��� 

5.��������&�	�����������0����                       0�(        112       
�"��       188                                   
���         300 

3.82      0.71 
4.01      0.63 
3.92      0.67 

��� 
��� 
��� 

6.�������%�����                                           0�(        112       
�"��       188                                   
���         300 

3.79      0.75 
4.06      0.64 
3.93      0.70  

��� 
��� 
��� 

                                             ���                   0�(        112       
�"��       188                                   

3.74      0.79 
4.00      0.70 

��� 
��� 

 ���       300    3.87     0.74 �
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���#���� 12  *����&�
�����������������#���� !��""�#�$%$��$#&��������������

#��������#�����������������%(���(�	����  �'�*��#��	��P�(����(�&������ ���   

(X= 3.87, S.D. = 0.74)  *��	���������/�#��	��� �&�  ����#�"���$
���������������&�

����#0�(  (X= 4.00, S.D. = 0.70 *�� X= 3.74, S.D. = 0.79)  *��	���������/�	!+���(����
� �&�  ����#�"��*��0�(�$
�����������(�&������ ���%2�����  P�(����%$�����#�$
����������

���%$��2�
��  �������%�����(X= 3.93, S.D. = 0.70)  �������
��  ��������&�	���������

��0����(X= 3.92, S.D. = 0.67)  *�����(%$��2� 
�� ������� '�	�c"!��P(0�
*�������

����*������  (X=3.80, S.D. = 0.87)                                  
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#���� 13  	!�$( 	%$( 
&�	3�$�(  *��
&�	 $�(�	 ���#�<��*������ 
�����������������#
���� !��""�#�$%$��$#&��������������P�(��� 6 ����  �'�*��#��	�� 

 
��
�*40*��$ 0�((n=112) 

 

X                  S.D. 

�"��(n=188) 
 

X                  S.D. 

 
t 

 
P 

1.������� '�	�c"!��P(0�
                                
*�����������*������         
2.��������&�	�������!��e�Y���   
3.�����&�	���������
2/Y������(Y���  
4.�����&�	�����$r�*���&�	�����2�j��  
5.��������&�	�����������0���� 
6.�������%�����                                           

 
3.67      0.92 
3.66      0.82 
3.75      0.75 
3.75      0.78 
3.82      0.71 
3.79      0.75 

 
3.92      0.82 
3.95      0.67 
4.03      0.81 
4.03      0.66 
4.01      0.63 
4.06      0.64 

 
3.460 
3.461 
2.252 
3.594 
2.597 
3.296 

 
0.001 
0.001 
0.025 
0.000 
0.010 
0.001 

��� 3.74     0.79 4.06     0.64 3.525 0.000 

 
 ���#����  13  *����&�����#���� !��""�#�$	��0�(*���"��  �$���� 
����������
���������������P�(j������$
���*#�#&������(&���$��(�'�
�"%���C�#�  %$�����  0.05  	����
�����/�	!+���(����� �&�  
����������%$��$#&���������������������#	��0�(*������#	��
�"���$
���*#�#&�����%2�����  �(&���$��(�'�
�"%���C�#� %$�����  0.05 
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#���� 14  *���
&�	3�$�(  
&�	 $�(�	 ���#�<��*������ 
�����������������#���� !��""�
#�$%$��$#&�������������� P�(���%2����� �'�*��#��
/� 

 
��
�*40*��$   �
�
�
�
              n 

X S.D. ��-����
�
*40*��$ 

1.������� '�	�c"!��P(0�
                        
*�����������*������   

���
����#�
           50        
��2�(���#�
            50   
��#����#�
                 50    
��%(����������a      70      
��������#�
             30            
��%(���(����0�#�    50 
���                       300 

3.64 
3.66 
3.91 
3.74 
3.97 
4.12 
3.84 

0.52 
0.76 
0.50 
0.72 
0.69 
0.53 
0.62 

��� 
��� 
��� 
��� 
��� 
��� 
�
	 

2.��������&�	�������!��e�Y���              ���
����#�
           50        
��2�(���#�
            50   
��#����#�
                 50    
��%(����������a      70      
��������#�
             30            
��%(���(����0�#�    50 
���                   300 

3.65 
3.63 
3.87 
3.84 
4.01 
4.10 
3.85 

0.70 
0.94 
0.60 
0.72 
0.78 
0.61 
0.72 

��� 
��� 
��� 
��� 
��� 
��� 
�
	 

3.�����&�	���������
2/Y���                     
���(Y���                                                 

���
����#�
           50        
��2�(���#�
            50   
��#����#�
                 50    
��%(����������a      70      
��������#�
             30            
��%(���(����0�#�    50 
���                   300 

3.50 
3.75 
3.99 
3.86 
3.97 
4.14 
3.87 

0.56 
0.72 
0.57 
0.77 
0.79 
0.60 
0.67 

��� 
��� 
��� 
��� 
��� 
��� 
�
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#���� 14  (#&�) 
 
��
�*40*��$   �
�
�
�
              n 

X S.D. ��-����
�
*40*��$ 

4.�����&�	�����$r�*���&�	����
�2�j��  
 

���
����#�
           50        
��2�(���#�
            50   
��#����#�
                 50    
��%(����������a      70      
��������#�
             30            
��%(���(����0�#�    50 
���                   300 

3.54 
3.85 
3.94 
3.91 
4.01 
4.33 
3.93 

0.63 
0.79 
0.64 
0.70 
0.75 
0.62 
0.69 

��� 
��� 
��� 
��� 
��� 
��� 
�
	 

 5.��������&�	�����������0���� 
 

���
����#�
           50        
��2�(���#�
            50   
��#����#�
                 50    
��%(����������a      70      
��������#�
             30            
��%(���(����0�#�    50 
���                   300 

3.61 
3.86 
4.03 
3.93 
3.96 
4.27 
3.94 

0.57 
0.72 
0.57 
0.68 
0.76 
0.55 
0.64 

��� 
��� 
��� 
��� 
��� 
��� 
�
	 

6.�������%�����                                           ���
����#�
           50        
��2�(���#�
            50   
��#����#�
                 50    
��%(����������a      70      
��������#�
             30            
��%(���(����0�#�    50 
���                   300 

3.66 
3.93 
3.96 
3.95 
3.97 
4.32 
3.97 

 

0.70 
0.71 
0.64 
0.67 
0.82 
0.52 
0.67 

��� 
��� 
��� 
��� 
��� 
��� 
�
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#���� 14  (#&�) 
 

��
�*40*��$   �
�
�
�
              n 
X S.D. ��-����
�

*40*��$ 

 
 

��� 

���
����#�
           50        
��2�(���#�
            50   
��#����#�
                 50    
��%(����������a      70      
��������#�
             30            
��%(���(����0�#�    50 
���                  300 

3.84 
3.85 
3.87 
3.93 
3.94 
3.97 
3.90 

 

0.62 
0.72 
0.67 
0.69 
0.64 
0.67 
0.66    

��� 
��� 
��� 
��� 
��� 
��� 
�
	 

 
���#����  14  *����&�
�����������������#���� !��""�#�$%$��$#&�����������������

�����%(���(�	����  �'�*��#��
/�P�(����(�&������ ��� (X= 3.9, S.D. = 0.66)  P�(����

%$�����#�$
�������������%$��2�
��  �������%����� (X= 3.97, S.D. = 0.67)  �������
�� ����

����&�	�����������0���� (X= 3.94, S.D. = 0.64)  *�����(%$��2� 
�� ������� '�	�c"!��P(0�
                         

*�����������*������  (X=3.84, S.D. = 0.62)   
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#���� 15  ��	
����

���*!�*!������
�*��	3�$�(
�����������������#���� !��""�#�$%$��$ 
                 #&��������������  P�(��� 6 ����  
 

��
�*40*��$ "��90��
� 
"#�"#��� 

df ss ms F P 

1.������� '�	�c"!��P(0�
                        
*�����������*������   

����&����2&� 
j�(����2&� 

��� 

5 
294 
299 

9.077 
116.770 
125.847 

1.815 
0.397 

4.571 0.000 

2.��������&�	����
���!��e�Y���               

����&����2&� 
j�(����2&� 

��� 

5 
294 
299 

8.107 
155.427 
163.534 

1.621 
0.529 

3.067 0.010 

3.�����&�	���������
2/Y���                     
���(Y���                                      

����&����2&� 
j�(����2&� 

��� 

5 
294 
299 

12.021 
133.363 
145.384 

2.404 
0.454 

5.300 0.000 

4.�����&�	�����$r�*���&�	����
�2�j��  
 

����&����2&� 
j�(����2&� 

��� 

5 
294 
299 

16.160 
139.232 
155.393 

3.232 
0.474 

6.825 0.000 

5.��������&�	�����������0���� ����&����2&� 
j�(����2&� 

��� 

5 
294 
299 

11.823 
120.018 
131.841 

2.365 
0.408 

5.792 0.000 

6.�������%�����                                           ����&����2&� 
j�(����2&� 

��� 

5 
294 
299 

11.329 
132.061 
143.390 

2.266 
0.449 

5.044 0.000 

��� ����&����2&� 
j�(����2&� 

5 
294 
299 

10.739 
100.557 
111.296 

2.148 
0.342 

6.280 0.000 
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���#����  15  *����&�
�����������������#���� !��""�#�$%$��$#&��������������
��������%(���(�	����   � �&��$���� 
�������������������������P�(j������$
���
*#�#&������(&���$��(�'�
�"%���C�#�  %$�����  0.05  	���������/�	!+���(����� �&�
������
����%$��$#&���������������������#�$
���*#�#&�����%2�����  �(&���$��(�'�
�"%���C�#� 
%$�����   0.05  ���%'����%��� *#�#&��	!+���(
�&  
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#���� 16  �����%��� 
���*#�#&��	!+���(
�&
�����������������#���� !��""�#�$%$��$#&�    
�������������������� '�	�c"!��P(0�
*�����������*������  �'�*��#��
/� 

 
�
�
�
�
 $%
��� (��) ��"����
�*40*��$�I���) 

���
����#�
 50 3.64 a  

��2�(���#�
 50 3.66 a  

��#����#�
 70 3.91 ab  

��%(����������a 30 3.74 ab  

��������#�
 50 3.97 ab  

��%(���(����0�#� 50 4.12 b  

��� 300 3.82 

�����%$�	�������� (a *�� b)  *%� 
�*��
����������	3�$�(%$�*#�#&������(&��)�&�$��(�'�
�" 
 

���#���� 16  ��	�c�)���&�	�����'�*������##��
/�  � �&�
�*��
����������
	3�$�(%$��$#&��������������������� '�	�c"!��P(0�
*�����������*������*#�#&������(&���$
��(�'�
�" P�(����#
/���#����#�
  
/���%(����������*��
/���������#�
  �$
�*��
���
�������	3�$�()�&*#�#&���������#
/����
����#�
  
/���2�(���#�
  *����%(���(����0�#�  
*#&����#��%(���(����0�#��$
�*��
����������	3�$�(�����&�����#
/����
����#�
*��
/�
��2�(���#�
�(&���$��(�'�
�" 
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#���� 17  �����%��� 
���*#�#&��	!+���(
�&
�����������������#���� !��""�#�$%$��$#&� 
                ���������������������&�	�������!��e�Y���  �'�*��#��
/� 
 

�
�
�
�
 $%
��� (��) ��"����
�*40*��$�I���) 

���
����#�
 50 3.65 a  

��2�(���#�
 50 3.63 a  

��#����#�
 70 3.87 a  

��%(����������a 30 3.84 a  

��������#�
 50 4.01 a  

��%(���(����0�#� 50 4.10 a  

��� 300 3.84 

�����%$�	�������� (a )  *%� 
�*��
����������	3�$�(%$�*#�#&������(&��)�&�$��(�'�
�" 

 
���#���� 17 ��	�c�)���&�	�����'�*������##��
/� � �&�
�*��
����������	3�$�(

%$��$#&����������������������&�	�������!��e�Y���*#�#&������(&��)�&�$��(�'�
�"  P�(����#

/����
����#�
  
/���2�(���#�
  
/���#����#�
  
/���%(����������  
/�
��������#�
  *����%(���(����0�#�  �$
�*��
����������	3�$�()�&*#�#&�����  
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#���� 18  �����%��� 
���*#�#&��	!+���(
�&
�����������������#���� !��""�#�$%$��$#&� 
                ������������������&�	���������
2/Y������(Y���  �'�*��#��
/� 
 
 

�
�
�
�
 $%
��� (��) ��"����
�*40*��$�I���) 

���
����#�
 50 3.50 a  

��2�(���#�
 50 3.75 ab  

��#����#�
 70 3.99 b  

��%(����������a 30 3.86 ab  

��������#�
 50 3.97 ab  

��%(���(����0�#� 50 4.14 b  

��� 300 3.86 

�����%$�	�������� (a *�� b)  *%� 
�*��
����������	3�$�(%$�*#�#&������(&��)�&�$��(�'�
�" 

 
���#���� 18  ��	�c�)���&�	�����'�*������##��
/�  � �&�
�*��
����������

	3�$�(%$��$#&�������������������&�	���������
2/Y������(Y���*#�#&������(&���$��(�'�
�"P�(
����#
/���2�(���#�
 
/���%(����������*��
/���������#�
�$
�*��
����������	3�$�(
)�&*#�#&�����
/����
����#�
*����%(���(����0�#�*#&����#��%(���(����0�#��$
�*��

����������	3�$�(����&�����#
/����
����#�
�(&���$��(�'�
�"  
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#���� 19  �����%��� 
���*#�#&��	!+���(
�&
�����������������#���� !��""�#�$%$��$#&� 
                ������������������&�	�����$r�*���&�	�����2�j��  �'�*��#��
/� 
 

�
�
�
�
 $%
��� (��) ��"����
�*40*��$�I���) 

���
����#�
 50 3.54 a  

��2�(���#�
 50 3.85 a  

��#����#�
 70 3.94 ab  

��%(����������a 30 3.91 a  

��������#�
 50 4.01 ab  

��%(���(����0�#� 50 4.33 b  

��� 300 3.92 

�����%$�	�������� (a *�� b)  *%� 
�*��
����������	3�$�(%$�*#�#&������(&��)�&�$��(�'�
�" 

 
���#���� 19  ��	�c�)���&�	�����'�*������##��
/�  � �&�
�*��
����������

	3�$�(%$��$#&�������������������&�	�����$r�*���&�	�����2�j��*#�#&������(&���$��(�'�
�"P�(
����#
/���#����#�
*��
/���������#�
�$
�*��
����������	3�$�()�&*#�#&�����
/�
���
����#�
  
/���2�(���#�
  
/���%(����������*����%(���(����0�#�*#&����#��%(���(
����0�#��$
�*��
����������	3�$�(����&�����#
/����
����#�

/���2�(���#�

/�
��%(����������*����%(���(����0�#��(&���$��(�'�
�" 
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#���� 20  �����%��� 
���*#�#&��	!+���(
�&
�����������������#���� !��""�#�$%$��$#&� 
                �����������������	�����������0����  �'�*��#��
/� 
 

�
�
�
�
 $%
��� (��) ��"����
�*40*��$�I���) 

���
����#�
 50 3.61 a  

��2�(���#�
 50 3.86 ab  

��#����#�
 70 4.03 ab  

��%(����������a 30 3.93 ab  

��������#�
 50 3.96 ab  

��%(���(����0�#� 50 4.27 b  

��� 300 3.94 

�����%$�	�������� (a *�� b)  *%� 
�*��
����������	3�$�(%$�*#�#&������(&��)�&�$��(�'�
�" 

 
���#���� 20  ��	�c�)���&�	�����'�*������##��
/�  � �&�
�*��
����������

	3�$�(%$��$#&������������������	�����������0����*#�#&������(&���$��(�'�
�"  P�(����#
/�
��2�(���#�
  
/���#����#�
  
/���%(����������*��
/���������#�
  �$
�*��
������
����	3�$�()�&*#�#&���������#
/���0����
����#�
*����%(���(����0�#�  *#&����# 
��%(���(����0�#��$
�*��
����������	3�$�(����&�����#
/����
����#�
�(&���$��(�'�
�" 
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#���� 21  �����%��� 
���*#�#&��	!+���(
�&
�����������������#���� !��""�#�$%$��$#&� 
                ��������������������%�����   �'�*��#��
/� 
 

�
�
�
�
 $%
��� (��) ��"����
�*40*��$�I���) 

���
����#�
 50 3.66 a  

��2�(���#�
 50 3.93 ab  

��#����#�
 70 3.96 ab  

��%(����������a 30 3.95 ab  

��������#�
 50 3.97 ab  

��%(���(����0�#� 50 4.32 b  

��� 300 3.96 

�����%$�	�������� (a *�� b)  *%� 
�*��
����������	3�$�(%$�*#�#&������(&��)�&�$��(�'�
�" 

 
���#���� 21  ��	�c�)���&�	�����'�*������##��
/�  � �&�
�*��
����������

	3�$�(%$��$#&���������������������%�����*#�#&������(&���$��(�'�
�"P�(����#
/��2�(���#�
 

/���#����#�
  
/���%(����������*��
/���������#�
  �$
�*��
����������	3�$�()�&
*#�#&���������#
/���0����
����#�
*����%(���(����0�#� *#&����#��%(���(����0�#��$

�*��
����������	3�$�(����&�����#
/����
����#�
�(&���$��(�'�
�"  
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#���� 22  �����%��� 
���*#�#&��	!+���(
�&
�����������������#���� !��""�#�$%$��$#&� 
                �������������P�(��� 6 ����  �'�*��#��
/� 
 

�
�
�
�
 $%
��� (��) ��"����
�*40*��$�I���) 

���
����#�
 50 3.59 a  

��2�(���#�
 50 3.78 a  

��#����#�
 70 3.95 ab  

��%(����������a 30 3.87 ab  

��������#�
 50 3.98 ab  

��%(���(����0�#� 50 4.22 b  

��� 300 3.89 

�����%$�	�������� (a *�� b)  *%� 
�*��
����������	3�$�(%$�*#�#&������(&��)�&�$��(�'�
�" 

 
���#���� 22  ��	�c�)���&�	�����'�*������##��
/�  � �&�
�*��
����������

	3�$�(#&��������������P�(��� 6 ����  *#�#&������(&���$��(�'�
�" P�(����#
/���0���#����#�
 

/���0���%(����������*��
/���������#�
  �$
�*��
����������	3�$�()�&*#�#&�����
����#
/���0����
����#�
 
/���2�(���#�
*����%(���(����0�#�  *#&����#��%(���(����0�#�  
�$
�*��
����������	3�$�(�����&�����#
/����
����#�
*��
/���2�(���#�
�(&���$
��(�'�
�" 
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     ����� 3  ��2!
����������*�����	���*��	����	#������- %$��$#&�����������������
����#���� !��""�#�$  ��������)���� ���*����2!)������$, 
              1.  �������������� '�	�c"!��P(0�
*�����������*������ 
        1.1  
���$����&�	�����������#��2����
Y���0�#� 
        1.2  
��������������2����
����*������  	0&� !���!Z� 	�c �(� 
        1.3  
������������	�$�(��� ���!�� !�2�����j���%���
����*������ 
                   1.4  �$��������������������#)�����)!%'��������j�(��������%(���( �����,� 
                   1.5  
���������������������e��02�0� 
   2.  ���������������&�	�������!��e�Y���   
        2.1  
�������%������*�����������!��������# 
        2.2  
���$����&�	��������*���	�$�(��� ���!��e�Y��� 
        2.3  
���$������#�,�0������!� !l�����#�� 
                   2.4  
���������������*�����e�Y������*#&��j���j�
  
                          #��
����������(�������# 
              3.  ������������&�	���������
2/Y������(Y���   
        3.1  
���$�������������gh����Y�  ��������������Y�  *�����	���
&�(Y���� 
        3.2  
��� ��	�����
2/Y������(Y��� ����� ����#�����,� 
        3.3  
���&�	�����������#	����&��*���$�&���&�������������Y$%�������  
                          %$�%�������%(���(�����,� 
        3.4  �&�	����������������2%Y����� 	����	!+���� '��2������ 
              4.  ������������&�	�����$r�*���&�	�����2�j��   
                   4.1  
���&�	��������$r� ����������*�&�����$r�%2�
/�j�(�������%(���( 
                   4.2  %�������%(���(
����� ��2������$r�*���2�j�� 	0&�  ������� 
                          	#��*�P� �
 *�����������������- 
                   4.3  
���$������#�,��P��������$r� 	0&� �P��� NUFC 
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              5.  ���������������&�	�����������0����    
                   5.1  
���$���� �� ������	0����0��������� ����# 
                   5.2  
���$�����e����������&�	������0����	����(- 
                   5.3  
��������������������&�	�����������0����  ���#���� 
���C����������# 
                   5.4  
���������������*�&���� C��-#�  %��������0����	����0�����������*��              

���*�&��������&��
/� 
              6.  ��������������%����� 
        6.1  
���$��������������������%�����	���������,�   

                             6.2  �$����������������� !�������

 �����������	���	!+�!���'�	���������
���
����

$  *���&����	�����2�(
������Y
����&������# 

        6.3  
���$���������P0�
*���������������#*#&��
/�  
                6.4  �������������*�&������#�$ P�(�$���* &����� ���*�&����  	���� ����#���� 

��#�$�$
���)��	!�$( ��&�����#��������- 
 


